100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64011 File # 10067-071

Re: Tardif v DT Business Investment Limited

Statement for Services Rendered Through

			Legal Fees			
08/12/10	AB		Receipt and review of Amended COS for Motion to Extend Deadline for Service of Complaint for filing.			
08/12/10	СВН	Prepare and file ame extend deadline for s		of service on motion to aint.	0.30hr \$150.00/hr	\$45.00
09/20/10	СВН	Final preparation of a without prejudice.	and filing notice	of voluntary dismissal	0.20hr \$150.00/hr	\$30.00
		Total Legal Fees			0.70	\$117.00
FEE SUMM/ Professiona			Hours	Rate	Amount	
Alexandra Bly Colleen B Hop	-		0.20 0.50	\$210.00 \$150.00	\$42.00 \$75.00	
Total Legal F	Total Legal Fees			_	\$117.00	
			Costs Advance	d		Homison conservation
	Copying					1.05
	Postage					2.03
	Total Costs	Advanced				\$3.08
			Total Invo	ice		\$120.08
			OUTSTAN	DING BALANCE		\$120.08
TRUST BALANCE						

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64012 File # 10067-072

Re: Tardif v Eduardo De Martino

TRUST BALANCE

Statement for Services Rendered Through

Feb 28/11

	werting the tine		Legal Fees			
08/27/10	СВН		Final preparation of and filing motion to extend deadline for service of complaint.			\$30.00
09/20/10	СВН		Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fees	F (a) (a)		0.40	\$60.00
FEE SUMMA Professional			Hours	Rate	Amount	
Colleen B Hopkins			0.40	\$150.00	\$60.00	
Total Legal Fees			0.40	_	\$60.00	
			Costs Advance	il	eroneoro de villos xillos (Co	
	Copying					1.05
	Postage					0.98
9	Total Costs	Advanced				\$2.03
		0.				
			Total Invoi	ce		\$62.03
			OUTSTANI	DING BALANCE		\$62.03

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64013 File # 10067-073

Re: Tardif v Edwin Bucher

TRUST BALANCE

Statement for Services Rendered Through

Feb 28/11

			Legal Fees			
08/11/10	СВН	Prepare and file complaint.	motion to extend dea	0.30hr \$150.00/hr	\$45.00	
09/17/10	СВН	Final preparation	Final preparation of and filing notice of voluntary dismissal.			\$45.00
09/20/10	CBH		Final preparation of and filing notice of voluntary dismissal without prejudice; review of docket.			\$45.00
		Total Legal Fees	Total Legal Fees			\$135.00
FEE SUMMA Professiona			Hours	Rate	Amount	
Colleen B Hopkins			0.90	\$150.00	\$135.00	
Total Legal Fees			0.90	_	\$135.00	
	THE TWO IS		Costs Advance	d		
	Copying					1.05
	Postage					0.98
	Total Costs	Advanced				\$2.03
			Total Invoi	ice		\$137.03
			OUTSTANI	DING BALANCE		\$137.03

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64014 File # 10067-074

Re: Tardif v Erich and Maria-Elisabeth Beckmann

Statement for Services Rendered Through

			Legal Fees	no an an		
08/11/10	СВН	Prepare and file r complaint.	Prepare and file motion to extend the deadline for service of complaint.			\$45.00
09/17/10	СВН		Final preparation of and filing notice of voluntary dismissal without prejudice.			\$45.00
		Total Legal Fees	Total Legal Fees			\$90.00
FEE SUMMA			Hours	Rate	Amount	
Colleen B Hop			0.60		\$90.00	
Colleen B Hop	JKII15		0.00	\$150.00	ψ50.00	
Total Legal F	ees	95	0.60		\$90.00	
			Costs Advance	d		
	Copying					1.05
	Postage					0.98
	Total Costs	Advanced				\$2.03
			Total Invo	ice		\$92.03
			OUTSTAN	DING BALANCE		\$92.03
TRUST BALA	ANCE	\$0.	.00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64015 File # 10067-075

0.44

Re: Tardif v Finduconsult AG

Statement for Services Rendered Through

Postage

		•				
		Legal Fees				
06/01/10	AB	Reviewed Certificate of Service for N service and filing.	Reviewed Certificate of Service for Notice of Pretrial for service and filing.			
06/22/10	AB	Analysis of defenses asserted by Fin Correspondence with R. Elgidely re:		0.20hr \$210.00/hr	\$42.00	
06/23/10	AB	Receipt and review of Motion for SJ. Elgidely re: Motion to Dismiss.	Receipt and review of Motion for SJ. Correspondence to R. Elgidely re: Motion to Dismiss.			
06/25/10	AB	Drafted Motion for Voluntary Dismiss	Drafted Motion for Voluntary Dismissal and proposed Order.			
07/02/10	AB	Prepared for and conducted Rule 26 Schutt and advised D. Schutt of Trus Voluntarily Dismiss; sent correspond	0.20hr \$210.00/hr	\$42.00		
07/12/10	AB	conference and hearing on Motion fo	Prepared for, attended and represented Trustee at pretrial conference and hearing on Motion for Voluntary Dismissal before Judge Williamson in Tampa, FL.			
		Total Legal Fees	*	3.90	\$819.00	
FEE SUMMARY: Professional		Hours	Rate	Amount		
Alexandra Blye		3.90	\$210.00	\$819.00		
Total Legal Fees		3.90		\$819.00		
		Costs Advance	d			
	Copying				11.55	

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-075

File # 10067-075 Inv. # 64015

Total Costs Advanced		\$11.99
	Total Invoice	\$830.99
	OUTSTANDING BALANCE	\$830.99

TRUST BALANCE

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64016 File # 10067-076

Re: Tardif v Florian Haeuslmann

Statement for Services Rendered Through

			Legal Fees			
08/24/10	СВН	Prepare and file compaint.	Prepare and file motion to extend deadline for service of compaint.			\$45.00
09/23/10	СВН		Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fee	es		0.50	\$75.00
FEE SUMM Profession			Hours	Rate	Amount	
Colleen B Hopkins			0.50	\$150.00	\$75.00	
Total Legal I	Fees		0.50	_	\$75.00	
	wrong the		Costs Advance	d		
	Copying					0.30
	Total Cost	s Advanced				\$0.30
			Total Invo	ice		\$75.30
			OUTSTAN	DING BALANCE		\$75.30
TRUST BAL	ANCE	Ş	\$0.00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64017 File # 10067-077

Re: Tardif v Global Financial Solutions

Statement for Services Rendered Through

		Legal Fees		
06/01/10	АВ	Receipt and review of updated corporate information for Global Financial Solutions, Inc. Correspondence to V. Lambdin re: same for purposes of service of adversary complaint.	0.20hr \$210.00/hr	\$42.00
07/12/10	AB	Prepared for, attended and represented Trustee at pre-trial conference before Judge Williamson in Tampa, FL.	1.00hr \$210.00/hr	\$210.00
07/15/10	СВН	Prepare order continuing pre-trial conference.	0.20hr \$150.00/hr	\$30.00
07/16/10	AB	Reviewed, revised and uploaded Order continuing pretrial.	0.20hr \$210.00/hr	\$42.00
08/17/10	AB	Prepared for, attended and represented client at pre-trial conference.	1.00hr \$210.00/hr	\$210.00
10/15/10	AB	Multiple correspondence with R. Elgidely re: status of case and order setting for trial vs. default.	0.30hr \$210.00/hr	\$63.00
10/15/10	RFE	Review docket and pre-trial order	0.20hr \$350.00/hr	\$70.00
11/01/10	AB	Follow up with C. Hopkins re: contact court to remove from trial calendar due to failure of Defendant to file response or answer.	0.20hr \$210.00/hr	\$42.00

Case 9:08-bk-04360-MGW Doc 605-6 Filed 03/31/11 Page 9 of 53

File # 10067-077 Inv. # 64017

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-077

12/09/10	АВ	January 11th despite failure by Defer response. Correspondence to R. Elg Default. Review and consider bank sattached to Complaint. Corresponde analysis of same for purposes of def proceeding to trial. Pull and review S	Conference call with D. Johnson re: scheduled trial for January 11th despite failure by Defendant to file answer or response. Correspondence to R. Elgidely re: Motion for Default. Review and consider bank support for schedule attached to Complaint. Correspondence to R. Elgidely re analysis of same for purposes of default, dismissal or proceeding to trial. Pull and review Sunbiz records, Oregon department of corporation records and bank support and circulate same to R. Elgidely.			
12/10/10	AB	Draft, revise and file Motion for Entry Court.	of Default by Clerk of	1.00hr \$210.00/hr	\$210.00	
12/28/10	AB	Draft and revise Verified Motion for E Judgment, Affidavit in support of san granting same, and proposed Final J same to R. Tardif for execution.	ne, proposed Order	2.30hr \$210.00/hr	\$483.00	
01/05/11	AB	from Tardif. Forward same to R. Elgi	Review executed copy of Motion for Default Final Judgment from Tardif. Forward same to R. Elgidely for follow up on R. Elgidely signature of verification page.			
01/07/11	АВ	Judgment and Affidavit in support of proposed Order and Final Judgment	Finalize executed copies of Motion for Default Final Judgment and Affidavit in support of same and revise proposed Order and Final Judgment. File same and upload proposed Order and Final Judgment.			
01/13/11	СВН	Meeting with V. Lambdin regarding fi and service address.	inal default judgment	0.10hr \$150.00/hr	\$15.00	
01/21/11	AB	Default Final Judgment (Final Judgm case to be closed) and update Pendir	Review and consider status of case and Motion for Entry of Default Final Judgment (Final Judgment entered, waiting for case to be closed) and update Pending Cases Chart in preparation for status meeting with R. Elgidely re: same.			
		Total Legal Fees		8.50	\$1,795.00	
FEE SUMMARY	1:	ν	5 .4			
Professional		Hours	Rate	Amount		
Robert F Elgidely		0.20	\$350.00	\$70.00		
Alexandra Blye		8.00	\$210.00	\$1,680.00 \$45.00		
Colleen B Hopkins	6	0.30	\$150.00	φ45.00		
Total Legal Fees	***	8.50	_	\$1,795.00		
		Costs Advance	ed be			

05/24/2010	Copying Fedex Airbill No. 793521195230 (10067-077) Federal Express Corporation 7	12.45 28.78
	Total Costs Advanced	\$41.23

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-077 File # 10067-077 Inv. # 64017

Total Invoice

\$1,836.23

OUTSTANDING BALANCE

\$1,836.23

TRUST BALANCE

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64018 File # 10067-078

Re: Tardif v Gries Consulting

TRUST BALANCE

Statement for Services Rendered Through

Feb 28/11

			Legal Fees -			
06/21/10	AB		e with A. Tashiro re: ex . Gawlik from Gries Co mplaint.	0.20hr \$210.00/hr	\$42.00	
08/23/10	СВН	Prepare and file complaint.	motion to extend dead	dline for service of	0.30hr \$150.00/hr	\$45.00
10/16/10	AB	Draft and revision	on Notice of Voluntary l	0.20hr \$210.00/hr	\$42.00	
	Total Legal Fees					\$129.00
FEE SUMMA Professional			Hours	Rate	Amount	
Alexandra Blye	Э		0.40	\$210.00	\$84.00	
Colleen B Hopkins			0.30	\$150.00	\$45.00	
Total Legal Fe	es		0.70		\$129.00	
			Costs Advanced			
	Copying					1.65
	Postage					0.98
Total Costs Advanced						\$2.63
			Total Invoic	ee	-	\$131.63
			OUTSTAND	ING BALANCE	,	\$131.63

Case 9:08-bk-04360-MGW Doc 605-6 Filed 03/31/11 Page 12 of 53

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-078 File # 10067-078 Inv. # 64018

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64019 File # 10067-079

Re: Tardif v Guido Annovazz

Statement for Services Rendered Through

			Legal Fees			
09/30/10	СВН	e-mail to A. Blye rega	Meeting with V. Lambdin regarding settlement agreement; e-mail to A. Blye regarding filing of motion to extend deadline for service of complaint.			
10/16/10	AB	Draft and revise Noti	Draft and revise Notice of Voluntary Dismissal .			\$42.00
		Total Legal Fees			0.40	\$72.00
FEE SUMM Profession			Hours	Rate	Amount	
Alexandra Bl Colleen B Ho			0.20 0.20	\$210.00 \$150.00	\$42.00 \$30.00	
Total Legal F	Fees		0.40		\$72.00	
BARRIER ST			Costs Advance	d		10 mg 100 mg
	Copying Total Cos	ts Advanced	1			\$0.30
			Total Invo	ice		\$72.30
			OUTSTAN	DING BALANCE		\$72.30
TRUST BAL	ANCE	\$0.00				

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64020 File # 10067-080

Re: Tardif v Juergen Kramer

TRUST BALANCE

Statement for Services Rendered Through

Feb 28/11

			Legal Fees			
08/26/10	СВН	Prepare and file m complaint.	notion to extend dea	0.30hr \$150.00/hr	\$45.00	
11/22/10	AB		Review docket and status of case; draft and revise Motion for Voluntary Dismissal.			
11/24/10	AB		Revise Motion for Voluntary Dismissal and draft proposed Order granting same.			\$63.00
		Total Legal Fees .			1.10	\$213.00
FEE SUMMA Professional			Hours	Rate	Amount	
Alexandra Blye	÷		0.80	\$210.00	\$168.00	
Colleen B Hopl			0.30	\$150.00	\$45.00	
Total Legal Fe	es		1.10		\$213.00	
			- Costs Advance	ă		
	Copying					0.75
	Postage					0.98
	Total Costs	Advanced				\$1.73
	Total Invoice					\$214.73
			OUTSTANI	DING BALANCE	- ··	\$214.73

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64021 File # 10067-081

Re: Tardif v Heribert Wimmer

Statement for Services Rendered Through

		Legal Fees -					
06/21/10	АВ	Correspondence with A. Tashiro re: No Dismissal.	otice of Voluntary	0.20hr \$210.00/hr	\$42.00		
06/22/10	АВ	Reviewed and revised Notice of Volunt filing. Correspondence to C. Hopkins r		0.20hr \$210.00/hr	\$42.00		
		Total Legal Fees	Total Legal Fees				
FEE SUMM		Hours	Rate	Amount			
Alexandra Bl	ye	0.40	0.40 \$210.00				
Total Legal F	ees	0.40		\$84.00			
		Total Invoice	Total Invoice				
		OUTSTAND	OUTSTANDING BALANCE				
TRUST BAL	ANCE	\$0.00	\$0.00				

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64022 File # 10067-082

Re: Tardif v Hevo Consulting

Statement for Services Rendered Through

	A SECULIA DE COMPANION DE COMPA		Legal Fees			
08/23/10	СВН	Prepare and file complaint.	Prepare and file motion to extend deadline for service of complaint.			\$45.00
09/23/10	СВН		Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fee	S		0.50	\$75.00
FEE SUMM			Hours	Rate	Amount	
Colleen B Hopkins			0.50	\$150.00	\$75.00	
Total Legal Fees			0.50		\$75.00	
			Costs Advance	d per	v s a s	
	Copying					1.05
	Postage					0.98
	Total Cost	ts Advanced				\$2.03
			Total Invoi	ice		\$77.03
			OUTSTAN	DING BALANCE	<u></u>	\$77.03
TRUST BALANCE			0.00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64023 File # 10067-083

Re: Tardif v Horst Ostermayer

Statement for Services Rendered Through

08/24/10 CBH Prepare and file motion to extend deadline for service of complaint. 09/22/10 CBH Final preparation of and filing notice of voluntary dismissal without prejudice. Total Legal Fees 0.50 FEE SUMMARY: Professional Hours Rate Amount Colleen B Hopkins 0.50 \$150.00 \$75.00 Total Legal Fees 0.50 \$75.00 Total Legal Fees Total Invoice OUTSTANDING BALANCE TRUST BALANCE \$0.00				Legal Fees			
### Without prejudice. Total Legal Fees	24/10	СВН	•	ropare and memorite extension			
FEE SUMMARY: Professional Hours Rate Amount Colleen B Hopkins 0.50 \$150.00 \$75.00 Total Legal Fees	22/10	СВН					\$30.00
Professional Hours Rate Amount Colleen B Hopkins 0.50 \$150.00 \$75.00 Total Legal Fees			Total Legal Fees	S		0.50	\$75.00
Colleen B Hopkins Total Legal Fees 0.50 \$75.00 \$75.00 \$75.00 \$75.00 Costs Advanced Copying Postage Total Costs Advanced Total Invoice OUTSTANDING BALANCE		′ :		Hours	Rate	Amount	
Copying Postage Total Costs Advanced Total Invoice OUTSTANDING BALANCE		S				\$75.00	
Copying Postage Total Costs Advanced Total Invoice OUTSTANDING BALANCE	al Legal Fees	•••		0.50	_	\$75.00	
Postage Total Costs Advanced Total Invoice OUTSTANDING BALANCE				Costs Advance	d		The state of the s
Total Costs Advanced Total Invoice OUTSTANDING BALANCE	- madrama	Copying					0.75
Total Invoice OUTSTANDING BALANCE		Postage					0.98
OUTSTANDING BALANCE		Total Costs	Advanced				\$1.73
				Total Invoi	ice		\$76.73
TRUST BALANCE \$0.00				OUTSTAN	DING BALANCE		\$76.73
	UST BALANC	E	\$0	0.00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64024 File # 10067-084

Re: Tardif v Horst Peter Wendt

Statement for Services Rendered Through

		Legal Fees				
06/10/10	АВ	Receipt and review of Settlement Agr Correspondence to R. Elgidely re: Mo Settlement.	0.20hr \$210.00/hr	\$42.00		
06/10/10	АВ	Follow up with R. Elgidely re: filing Motion to Approve 0.20hr Settlement of Wendt action, as well as German filed action 3210.00/hr against Enste.				
06/22/10	АВ	Receipt and review of Notice of Volur	ntary Dismissal.	0.20hr \$210.00/hr	\$42.00	
06/28/10	АВ	Drafted Motion for Voluntary Dismissing granting same. Pulled response to Control proper address for foreign defendant.	1.00hr \$210.00/hr	\$210.00		
07/12/10	АВ	Prepared for, attended and represent conference and hearing on Motion to before Judge Williamson in Tampa, F	1.00hr \$210.00/hr	\$210.00		
		Total Legal Fees	a ^c	2.60	\$546.00	
FEE SUMM Profession		Hours	Rate	Amount		
Alexandra Bl		2.60	\$210.00	\$546.00		
			Ψ2 10.00 —			
Total Legal F	rees	2.60		\$546.00		
		Costs Advance	d			
	Copying				1.05	
	Postage				0.44	

Case 9:08-bk-04360-MGW Doc 605-6 Filed 03/31/11 Page 19 of 53

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-084 File # 10067-084 Inv. # 64024

Total Costs Advanced		\$1.49
	Total Invoice	\$547.49
	OUTSTANDING BALANCE	\$547.49

TRUST BALANCE

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919

March 25, 2011 Inv. # 64025 File # 10067-085

Re: Tardif v Hubert Stienhauser

Statement for Services Rendered Through

		Legal Fees -			
06/04/10	AB	Review of COS re: Complaint and Sur service and filing.	mmons for purpose of	0.20hr \$210.00/hr	\$42.00
08/12/10	СВН	Prepare and file motion to extend dead complaint.	Prepare and file motion to extend deadline for service of complaint.		
09/24/10	СВН	Final preparation of and filing notice of without prejudice.	f voluntary dismissal	0.20hr \$150.00/hr	\$30.00
11/12/10	AB	Correspondence with P. Esser re: sett of case.	Correspondence with P. Esser re: settlement and dismissal of case.		
11/15/10	AB		Draft Motion to Reopen and proposed Order granting same. Circulate same to R. Elgidely re: same.		
					4000.00
		Total Legal Fees		1.90	\$369.00
FEE SUMMA			Rate		\$369.00
Professiona	al	Hours	Rate	Amount	\$369.00
	a l ye		Rate \$210.00 \$150.00		\$369.00
Professiona Alexandra Bly	ye okins	Hours 1.40	\$210.00	Amount \$294.00	\$369.00
Professiona Alexandra Bly Colleen B Hop	ye okins	Hours 1.40 0.50	\$210.00 \$150.00 —	Amount \$294.00 \$75.00	\$369.00
Professiona Alexandra Bly Colleen B Hop	ye okins	Hours 1.40 0.50 1.90	\$210.00 \$150.00 —	Amount \$294.00 \$75.00	1.35

Case 9:08-bk-04360-MGW Doc 605-6 Filed 03/31/11 Page 21 of 53

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-085 File # 10067-085 Inv. # 64025

Total Invoice

\$370.35

OUTSTANDING BALANCE

\$370.35

TRUST BALANCE

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64026 File # 10067-086

Re: Tardif v Ilse Nouri

Statement for Services Rendered Through

	Marian Company		Legal Fees			
08/19/10	СВН	Prepare and file n	Prepare and file motion to extend deadline for service of complaint.			\$45.00
09/22/10	СВН		Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fees	** *		0.50	\$75.00
FEE SUMM			Hours	Rate	Amount	
Colleen B Ho	pkins		0.50	\$150.00	\$75.00	
Total Legal F	ees		0.50		\$75.00	
		And the state of t	Costs Advance	d		
	Copying					0.75
	Postage					0.98
	Total Costs	Advanced			-,	\$1.73
			Total Invo	ice		\$76.73
			OUTSTAN	DING BALANCE		\$76.73
TRUST BAL	ANCE	\$0.	00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64027 File # 10067-087

Re: Tardif v J.P. Konaszewki

TRUST BALANCE

Statement for Services Rendered Through

Feb 28/11

			Legal Fees -		settemes vene a mond	
08/26/10	СВН	Prepare and file complaint.	e motion to extend dea	0.30hr \$150.00/hr	\$45.00	
09/20/10	СВН	Prepare and file prejudice.	Prepare and file notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fee	S		0.50	\$75.00
FEE SUMMA Professional			Hours	Rate	Amount	
Colleen B Hopkins			0.50	\$150.00	\$75.00	
Total Legal Fe	es		0.50		\$75.00	
			Costs Advanced			
	Copying					1.35
	Total Costs	s Advanced				\$1.35
			Total Invoid	ce		\$76.35
			OUTSTAND	DING BALANCE		\$76.35

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64028 File # 10067-088

Re: Tardif v Johannes Eliah Veith

Statement for Services Rendered Through

			Legal Fees		and the second of the second o	/ 1.5 Te 1.5
08/12/10	СВН	Prepare and file m complaint.	Prepare and file motion to extend deadline for service of complaint.			\$45.00
09/23/10	СВН	Final preparation of without prejudice.	Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fees .	14/4		0.50	\$75.00
FEE SUMM/			Hours	Rate	Amount	
Professiona	41			Nate		
Colleen B Hop	okins		0.50	\$150.00	\$75.00	
Total Legal F	ees		0.50		\$75.00	
	Water to the same of the		- Costs Advance	d		
	Copying					1.05
	Postage					0.44
	Total Costs	Advanced				\$1.49
			Total Invoi	ice		\$76.49
			OUTSTAN	DING BALANCE		\$76.49
TRUST BAL	ANCE	\$0.0	00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64029 File # 10067-089

Re: Tardif v K. Juergen Schlosser

Statement for Services Rendered Through

			Legal Fees				
08/19/10	СВН	Prepare and fil complaint.	Prepare and file motion to extend deadline for service of somplaint. 0.				
09/23/10	СВН	Final preparation	Final preparation of and filing notice of voluntary dismissal.			\$30.00	
	5	Total Legal Fee	es		0.50	\$75.00	
FEE SUMMA Professional			Hours	Rate	Amount		
Colleen B Hop	kins		0.50	\$150.00	\$75.00		
Total Legal Fe	ees		0.50	-	\$75.00		
			Costs Advance	d			
	Copying					1.05	
	Postage			*:		0.98	
	Total Cost	s Advanced				\$2.03	
			Total Invo	ice		\$77.03	
			OUTSTAN	DING BALANCE	-	\$77.03	
TRUST BALANCE \$0.0			\$0.00				

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64030 File # 10067-090

Re: Tardif v Lothar Foerstner

Statement for Services Rendered Through

			Legal Fees			
09/22/10	СВН	Final preparation without prejudic	on of and filing notice one.	0.20hr \$150.00/hr	\$30.00	
		Total Legal Fee	es	41	0.20	\$30.00
FEE SUMM. Professiona			Hours	Rate	Amount	
Colleen B Ho	pkins	ä	0.20	\$150.00	\$30.00	
Total Legal F	ees		0.20	3	\$30.00	
			Total Invo	ice	-	\$30.00
			OUTSTAN	DING BALANCE	-	\$30.00
TRUST BAL	ANCE	\$	0.00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64031 File # 10067-092

Re: Tardif v Maria Leuder

Statement for Services Rendered Through

			Legal Fees			A 4 1 5 6 0 6
08/27/10	СВН	Final preparation o service of complair		0.20hr \$150.00/hr	\$30.00	
09/23/10	СВН	Final preparation o without prejudice.	Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fees	Total Legal Fees			\$60.00
FEE SUMMARY: Professional			Hours	Rate	Amount	
Colleen B Hopkins			0.40	\$150.00	\$60.00	
Total Legal Fees			0.40		\$60.00	
			- Costs Advance	d		
	Copying					1.35
	Total Costs	Advanced				\$1.35
				£		
Total Invoice						\$61.35
	OUTSTANDING BALANCE					\$61.35
TRUST BALA	NCE	\$0.0	0			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64032 File # 10067-093

Re: Tardif v Markus Frieser

Statement for Services Rendered Through

		Legal Fees -			
08/12/10	СВН	Prepare and file motion to extend dea complaint.	0.30hr \$150.00/hr	\$45.00	
10/12/10	AB	Draft and revise COS on Order Granti Service Deadline.	0.20hr \$210.00/hr	\$42.00	
11/17/10	AB	Draft and revise Second Motion to Ext Service of Complaint.	0.30hr \$210.00/hr	\$63.00	
12/14/10	АВ	Follow up with R. Elgidely re: status of Extension of Service Deadline in light Compromise Controversy and filing of Motion for Voluntary Dismissal.	0.20hr \$210.00/hr	\$42.00	
		Total Legal Fees	1.00	\$192.00	
FEE SUMMA Professiona		Hours	Rate	Amount	
Alexandra Bly Colleen B Hop		0.70 \$210.00 0.30 \$150.00		\$147.00 \$45.00	
Total Legal F	ees	1.00	1.00		
		Costs Advanced	1		

Costs Advanced	
Copying	1.50
Postage	1.42
Total Costs Advanced	\$2.92

Case 9:08-bk-04360-MGW Doc 605-6 Filed 03/31/11 Page 29 of 53

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-093

File # 10067-093 Inv. # 64032

Total Invoice \$194.92

OUTSTANDING BALANCE \$194.92

TRUST BALANCE

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64033 File # 10067-094

Re: Tardif v Markus Lang

Statement for Services Rendered Through

Feb 28/11

08/12/10	CBH Prepare and file motion to extend deadline for service of complaint.			0.20hr \$150.00/hr	\$30.00	
09/23/10	CBH		Final preparation of and filing notice of voluntary dismissal without prejudice. Total Legal Fees			\$30.00
		Total Legal Fees				\$60.00
FEE SUMMAR Professional	RY:		Hours	Rate	Amount	
Colleen B Hopkins			0.40	\$150.00	\$60.00	
Total Legal Fees			0.40	_	\$60.00	
			Costs Advance	d		
	Copying					0.30
	Postage					0.44
	Total Costs	Advanced				\$0.74
			Total Invoi	ice		\$60.74
			OUTSTAN	DING BALANCE		\$60.74
TRUST BALANCE			00			

--- Legal Fees ---

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64034 File # 10067-095

Re: Tardif v Martin Ostermaier

Statement for Services Rendered Through

Complaint	,			Legal Fees			
Without prejudice \$150.00/hr	08/19/10					\$45.00	
FEE SUMMARY: Professional Hours Rate Amount Colleen B Hopkins 0.50 \$150.00 \$75.00 Total Legal Fees	09/22/10	CBH		without prejudice.			\$30.00
Professional Hours Rate Amount Colleen B Hopkins 0.50 \$150.00 \$75.00 Total Legal Fees 0.50 \$75.00 Copying Postage Total Costs Advanced			Total Legal Fee				\$75.00
Colleen B Hopkins				Houre	Rate	Amount	
Total Legal Fees	Professional				ivato		
Costs Advanced Copying Postage Total Costs Advanced	Colleen B Hopkins			0.50	\$150.00	\$75.00	
Copying Postage Total Costs Advanced	Total Legal Fees			0.50		\$75.00	
Postage Total Costs Advanced				Costs Advance	i i		STATE AND ADDRESS.
Total Costs Advanced		Copying					0.75
Total Invoice \$76.7 OUTSTANDING BALANCE \$76.7		Postage					0.98
OUTSTANDING BALANCE \$76.7		Total Cost	s Advanced				\$1.73
				Total Invoi	ce		\$76.73
TRUST BALANCE \$0.00				OUTSTANI	DING BALANCE		\$76.73
TROOT DALANGE \$0.00	TRUST BALANCE			0.00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64035 File # 10067-096

Re: Tardif v Michael Tomaselli

Statement for Services Rendered Through

			Legal Fees			
06/01/10	AB		Receipt and review supporting documents from opposing counsel re: transfers of \$150,000.00.			\$63.00
06/10/10	АВ	Fox re: dismissing	Multiple correspondence from Annerose Tashiro and Carol Fox re: dismissing suit. Correspondence to C. Hopkins re: Notice of Voluntary Dismissal and proposed Order.			\$63.00
08/12/10	СВН	Prepare and file n complaint.	Prepare and file motion to extend deadline for service of complaint.			\$45.00
09/24/10	СВН	Final preparation without prejudice.	Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fees	Total Legal Fees			\$201.00
FEE SUMMARY: Professional			Hours	Rate	Amount	
Alexandra Blye Colleen B Hopkins			0.60 0.50	\$210.00 \$150.00	\$126.00 \$75.00	
Total Legal Fees			1.10	_	\$201.00	

	Costs Advanced	
Postage		0.44
Total Costs Advanced		\$0.44
	Total Invoice	\$201.44
	OUTSTANDING BALANCE	\$201.44

Case 9:08-bk-04360-MGW Doc 605-6 Filed 03/31/11 Page 33 of 53

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-096 File # 10067-096 Inv. # 64035

TRUST BALANCE

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64036 File # 10067-097

Re: Tardif v Milan Mohelsky

Statement for Services Rendered Through

			Legal Fees			
08/19/10	СВН	Prepare and file complaint.	e motion to extend dea	0.30hr \$150.00/hr	\$45.00	
09/22/10	СВН		Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fee	Total Legal Fees			\$75.00
FEE SUMM/ Professiona			Hours	Rate	Amount	
					\$75.00	
Colleen B Hopkins			0.50	\$150.00	\$73.00	
Total Legal Fees		0.50	-	\$75.00		
			Costs Advance	d	n i i i i i i i i i i i i i i i i i i i	
	Copying	4				0.75
	Postage					0.98
Total Costs Advanced						\$1.73
			Total Invoi	00		\$76.73
			TOTAL ITTVO	CE		φ/0./3
			OUTSTANI	DING BALANCE		\$76.73
TRUST BAL	ANCE	9	00.00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919

March 25, 2011 Inv. # 64037 File # 10067-098

Re: Tardif v Ralf Huber

Statement for Services Rendered Through

Feb 28/11

08/27/10	СВН	Final preparation of service of complaint		to extend deadline for	0.20hr \$150.00/hr	\$30.00
10/04/10	AB	Review Order Grant	Review Order Granting Motion to Extend Service Deadline.			\$42.00
10/16/10	AB	Draft and revise Notice of Voluntary Dismissal .			0.20hr \$210.00/hr	\$42.00
		Total Legal Fees	al Legal Fees			\$114.00
FEE SUMMAR	2Υ·					
Professional			Hours	Rate	Amount	
Alexandra Blye			0.40	\$210.00	\$84.00	
Colleen B Hopkins			0.20	\$150.00	\$30.00	
Total Legal Fees		<u>-</u>	0.60	 -	\$114.00	
			Costs Advance	d		
	Copying					1.05
Total Costs Advanced						\$1.05
Total Invoice				\$115.05		
OL			OUTSTAN	DING BALANCE		\$115.05
TRUST BALANCE						

--- Legal Fees ---

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64038 File # 10067-099

\$244.50

\$244.50

Re: Tardif v Ralf Puett

Statement for Services Rendered Through

Feb 28/11

			Legal Fees -			
08/27/10	СВН	Prepare and file n	Prepare and file motion to extend deadline for service of complaint.			\$45.00
08/27/10	СВН	Final preparation service of compla		o extend deadline for	0.20hr \$150.00/hr	\$30.00
11/22/10	AB		Review docket and status of case; draft and revise Motion for Voluntary Dismissal.			\$105.00
11/24/10	AB	Revise Motion for Voluntary Dismissal, and draft proposed Order granting same.			0.30hr \$210.00/hr	\$63.00
	Total Legal Fees					\$243.00
FEE SUMMARY: Professional			Hours	Rate	Amount	
Alexandra Blye			0.80	\$210.00	\$168.00	
Colleen B Hopkins			0.50	\$150.00	\$75.00	
Total Legal Fees			1.30	_	\$243.00	
			Costs Advanced			
Copying						1.50
Total Costs Advanced						\$1.50

Total Invoice

OUTSTANDING BALANCE

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-099 File # 10067-099 Inv. # 64038

TRUST BALANCE

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64039 File # 10067-100

Re: Tardif v Roland Studer

Statement for Services Rendered Through

Feb 28/11

			Legal Fees			
08/26/10	СВН	Prepare and file complaint.	Prepare and file motion to extend deadline for service of complaint.			\$45.00
09/24/10	СВН		Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fees	and a		0.50	\$75.00
FEE SUMM			Hours	Rate	Amount	
Colleen B Hopkins			0.50	\$150.00	\$75.00	
Total Legal Fees			0.50	_	\$75.00	
			Costs Advance			
	Copying					1.20
	Postage					0.98
	Total Cost	s Advanced				\$2.18
			Total Invoi	ce		\$77.18
			OUTSTANI	DING BALANCE	<u> </u>	\$77.18
TRUST BALANCE \$			0.00			

Logal Food

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64040 File # 10067-101

Re: Tardif v Rolf Huth

TRUST BALANCE

Statement for Services Rendered Through

Feb 28/11

			Legal Fees			PER SERVICE
08/24/10	СВН	Prepare and file complaint.	repare and file motion to extend deadline for service of 0.3 smplaint. \$150.00			
11/03/10	AB	Draft and file No	Draft and file Notice of Voluntary Dismissal.			\$63.00
Total Legal Fees					0.60	\$108.00
FEE SUMM Profession			Hours	Rate	Amount	
Alexandra Blye Colleen B Hopkins			0.30 0.30	\$210.00 \$150.00	\$63.00 \$45.00	
Total Legal F	Fees		0.60	-	\$108.00	
			Costs Advance	d	ALCONO DE LA CONTRACTOR D	
	Copying		AND A SECURITION WESTERNOON OF THE SECURITION OF			0.75
	Postage					0.98
	Total Costs	Advanced				\$1.73
			Total Invoi	ice		\$109.73
			OUTSTANI	DING BALANCE		\$109.73

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64041 File # 10067-102

Re: Tardif v S.L. Die Balearen

Statement for Services Rendered Through

		•	Legal Fees		The state of the s	
08/11/10	СВН	Prepare and file motion complaint.	Prepare and file motion to extend deadline for service of complaint.			\$45.00
09/20/10	СВН	Final preparation of a without prejudice.	Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fees	Total Legal Fees			\$75.00
FEE SUMMA	FEE SUMMARY:					
Professiona	I		Hours	Rate	Amount	
Colleen B Hopkins			0.50	\$150.00	\$75.00	
Total Legal F	ees		0.50			
		 -	Costs Advance	d		
	Copying			-		1.05
	Postage					1.05
	Total Costs	Advanced				\$2.10
			Total Invo	ice		\$77.10
			OUTSTAN	DING BALANCE	-	\$77.10
TRUST BALA	ANCE	\$0.00				

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64042 File # 10067-103

Re: Tardif v Sandra Isler-Corleoni

Statement for Services Rendered Through

			Legal Fees			
08/26/10	СВН	Prepare and file i complaint.	motion to extend de	0.30hr \$150.00/hr	\$45.00	
09/20/10	СВН		Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fees	Total Legal Fees			\$75.00
FEE SUMM	ARY:					
Profession	al		Hours	Rate	Amount	
Colleen B Hopkins			0.50	\$150.00	\$75.00	
Total Legal F	Total Legal Fees		0.50		\$75.00	
			Costs Advance	d	AL AN STATE OF THE	AND CONTRACTOR
	Copying					1.05
	Postage					0.98
	Total Costs	Advanced				\$2.03
			Total Invo	ice		\$77.03
			OUTSTAN	DING BALANCE		\$77.03
TRUST BALANCE			.00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64043 File # 10067-104

Re: Tardif v Stefan Oberhansl

Statement for Services Rendered Through

			Legal Fees			
08/19/10	СВН	Prepare a complaint	nd file motion to extend de	eadline for service of	0.30hr \$150.00/hr	\$45.00
09/22/10	СВН	Final prep without pr	aration of and filing notice ejudice.	of voluntary dismissal	0. 20hr \$150.00/hr	\$30.00
		0.50	\$75.00			
FEE SUMM Profession			Hours	Rate	Amount	
Colleen B Hopkins			0.50	\$150.00	\$75.00	
Total Legal F	ees		0.50	<u> </u>	\$75.00	
			.4			
			Total Invo	pice		\$75.00
OUTSTANDING BALANCE				£	\$75.00	
TRUST BAL	ANCE		\$0.00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64044 File # 10067-105

Re: Tardif v Verpoint GmbH

Statement for Services Rendered Through

			Legal Fees			
08/12/10	СВН	Prepare and file mo	Prepare and file motion to extend the deadline for service of complaint.			\$45.00
09/23/10	СВН	Final preparation of without prejudice.	Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fees	Total Legal Fees			\$75.00
FEE SUMM/ Professiona	7 7 7 7		Hours	Rate	Amount	
Colleen B Hopkins			0.50	\$150.00	\$75.00	
Total Legal F	ees		0.50	_	\$75.00	
		Table Services	Costs Advance	d		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	Copying					1.05
	Postage					0.44
	Total Costs	Advanced				\$1.49
			Total Invo	ice		\$76.49
	OUTSTANDING BALANCE					\$76.49
TRUST BALA	ANCE	\$0.00	0			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64045 File # 10067-106

\$327.00

Re: Tardif v Winfried Scraback

Statement for Services Rendered Through

Feb 28/11

		Legal Fees -				
06/10/10	АВ	Multiple correspondence with A. Tashin profiteer status of Scraback and dismis Correspondence to C. Hopkins re: Not Dismissal and proposed Order.	ssal of suit.	0.30hr \$210.00/hr	\$63.00	
06/14/10	AB	Correspondence with P. Esser re: filing Dismisal.	Correspondence with P. Esser re: filing Notice of Voluntary Dismisal.			
06/15/10	AB	Correspondence with P. Esser re: filing Dismissal.	Correspondence with P. Esser re: filing of Notice of Voluntary Dismissal.			
06/15/10	AB	Reviewed and revised Notice of Volunt proposed Order re: same. Circulated to	0.30hr \$210.00/hr	\$63.00		
07/30/10	СВН		Receipt and review of settlement agreement; begin preparation of second omnibus motion to compromise controversy.			
		Total Legal Fees		1.70	\$327.00	
FEE SUMMA Professiona		Hours	Rate	Amount		
Alexandra Bly	e	1.20	\$210.00	\$252.00		
Colleen B Hopkins 0.50 \$150.00			\$150.00	\$75.00		
Total Legal F	ees	1.70		\$327.00		

Page 1

Total Invoice

Case 9:08-bk-04360-MGW Doc 605-6 Filed 03/31/11 Page 45 of 53

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-106

File # 10067-106 Inv. # 64045

OUTSTANDING BALANCE

\$327.00

TRUST BALANCE

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64046 File # 10067-107

Re: Tardif v Werner Mederle

Statement for Services Rendered Through

		•			
		Legal Fees		San	
08/19/10	CBH	Prepare and file motion to extend dea complaint.	Prepare and file motion to extend deadline for service of complaint.		
10/04/10	AB	Review and revise Order Granting Mo Deadline.	Review and revise Order Granting Motion to Extend Service Deadline.		
10/07/10	АВ	Review and revise Notice of Withdraw Voluntary Dismissal.	0.20hr \$210.00/hr	\$42.00	
10/07/10	СВН	Prepare and file notice of withdrawal dismissal; telephone call with JA rega	0.50hr \$150.00/hr	\$75.00	
10/12/10	АВ	Draft and revise COS on Order Grant Extend Deadline for Service of Comp	0.20hr \$210.00/hr	\$42.00	
11/15/10	AB	Draft Notice of Voluntary Dismissal.	0.20hr \$210.00/hr	\$42.00	
		Total Legal Fees	1.60	\$288.00	
FEE SUMMARY: Professional		Hours	Rate	Amount	
Alexandra Bl	Ve	0.80	\$210.00	\$168.00	
Colleen B Ho	-	0.80	\$150.00	\$120.00	
Total Legal Fees		1.60		\$288.00	
		Costs Advanced	d		
	Copying				2.10
	Postage				2.94

Robert E. Tardif, Jr. Chapter 7 Trustee 10067-107

File # 10067-107 Inv. # 64046

Total Costs Advanced \$5.04

Total Invoice \$293.04

OUTSTANDING BALANCE \$293.04

TRUST BALANCE

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64047 File # 10067-108

Re: Tardif v Albert Raab

TRUST BALANCE

Statement for Services Rendered Through

Feb 28/11

06/01/10	AB	Tashiro re: Raab	ew of correspondenceschedule and supportant	ort and correspondence	0.20hr \$210.00/hr	\$42.00
08/19/10	СВН	Prepare and file r complaint.	Prepare and file motion to extend deadline for service of complaint.			\$45.00
09/23/10	СВН		Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
	Total Legal Fees					\$117.00
FEE SUMM/ Professiona			Hours	Rate	Amount	
Alexandra Bly	ye		0.20	\$210.00	\$42.00	
Colleen B Hop	okins		0.50	\$150.00	\$75.00	
Total Legal F	ees		0.70	_	\$117.00	
			Costs Advance	daria		
	Copying					0.30
Total Costs Advanced					-	\$0.30
			Total Invoi	ce		\$117.30
			OUTSTAN	DING BALANCE		\$117.30

--- Legal Fees ---

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64048 File # 10067-109

Re: Tardif v Andrea Haemmerle

Statement for Services Rendered Through

			Legal Fees			
08/23/10	СВН	Prepare and file m complaint.	Prepare and file motion to extend deadline for service of complaint.			\$45.00
09/23/10	СВН	Final preparation of without prejudice.	Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fees .	Total Legal Fees			\$75.00
FEE SUMMA				D (Assessed	
Professiona	ıl		Hours	Rate	Amount	
Colleen B Hopkins			0.50	\$150.00	\$75.00	
Total Legal F	ees		0.50	_	\$75.00	
			- Costs Advance			
	Copying					1.05
	Postage					0.98
	Total Costs	Advanced			0	\$2.03
			Total Invoi	ce	,	\$77.03
			OUTSTANI	DING BALANCE		\$77.03
TRUST BALANCE			00			

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64049 File # 10067-110

Re: Tardif v Andreas Rey

Statement for Services Rendered Through

Feb 28/11

08/27/10	P8/27/10 CBH Final preparation of and filing motion to extend deadline for service of complaint.				0.20hr \$150.00/hr	\$30.00
09/23/10	09/23/10 CBH Final preparation of and filing notice of voluntary dismissal without prejudice.					\$30.00
	Total Legal Fees					\$60.00
FEE SUMM Profession			Hours	Rate	Amount	
Colleen B Hopkins			0.40	\$150.00	\$60.00	
Total Legal I	Fees		0.40	-	\$60.00	
			Costs Advanced			
	Copying					1.05
	Postage					0.98
	Total Costs	Advanced				\$2.03
			Total Invoi	ce		\$62.03
			OUTSTAND	DING BALANCE	<u>.</u>	\$62.03
TRUST BALANCE			.00			

--- Legal Fees ---

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64050 File # 10067-111

Re: Tardif v Annelie Faessler

Statement for Services Rendered Through

			Legal Fees	3.5		
08/11/10	СВН	Prepare and file n	Prepare and file motion to extend time for service of complaint.			\$45.00
09/22/10	СВН	Final preparation without prejudice.	Final preparation of and filing notice of voluntary dismissal without prejudice.			\$30.00
		Total Legal Fees			0.50	\$75.00
FEE SUMM			Hours	Rate	Amount	
Colleen B Hopkins			0.50	\$150.00	\$75.00	
Total Legal F	Total Legal Fees		0.50	_	\$75.00	
			- Costs Advance	d		
	Copying		•			0.75
	Postage					0.44
	Total Costs	Advanced				\$1.19
			Total Invo	ice		\$76.19
			OUTSTAN	OUTSTANDING BALANCE		\$76.19
TRUST BALANCE \$			00			

Case 9:08-bk-04360-MGW Doc 605-6 Filed 03/31/11 Page 52 of 53

Genovese Joblove & Battista, P.A.

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64051 File # 10067-112

Re: Tardif v ASL Logistik GmbH

Statement for Services Rendered Through

	va ograndska dik		Legal Fees				
09/13/10	P/13/10 AB Review and revise notice of voluntary dismissal.					\$42.00	
09/13/10	СВН	Prepare and file notice of prejudice.	Prepare and file notice of voluntary dismissal without prejudice.				
	*	Total Legal Fees	Total Legal Fees				
FEE SUMMARY: Professional		H	ours	Rate	Amount		
Alexandra Blye Colleen B Hopkins			0.20 0.50	\$210.00 \$150.00	\$42.00 \$75.00		
Total Legal Fees			0.70		\$117.00		
			Tatallana	5		\$117.00	
			Total Invoice				
			OUTSTANDING BALANCE				
TRUST BALANCE		\$0.00	\$0.00				

100 Southeast Second Street, 44th Floor Miami, Florida 33131 Telephone (305) 349-2300 Facsimile (305) 349-2310 Employer ID# 65-0518134

Robert E. Tardif, Jr. Chapter 7 Trustee 8695 College Parkway Suite 1220 Fort Myers, FL 33919 March 25, 2011 Inv. # 64052 File # 10067-113

Re: Tardif v B. Bruehlmann; U, Bruehlmann

Statement for Services Rendered Through

			Legal Fees	ngarida dengan ilipir de mar de estado de la companya de la compan			
09/17/10	СВН	Final preparation of	0.30hr \$150.00/hr	\$45.00			
09/20/10	СВН		Edits to notice of voluntary dismissal without prejudice; final preparation of and file notice.				
		0.60	\$90.00				
FEE SUMM				D 4			
Professional			Hours	Rate	Amount		
Colleen B Hopkins			0.60	\$150.00	\$90.00		
Total Legal Fees			0.60		\$90.00		
			Costs Advance	d			
	Copying					0.30	
	Total Cost	s Advanced				\$0.30	
			Total Invo	ice		\$90.30	
		\$90.30					
TRUST BAL	ANCE	\$0.00					